NAH 8253

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
BEBNRENERLEL.

[z FERFS

s HBE 8 B

5 R o $EES310.1%, 0.15%, 0.3%

o HshE o IRERmHE

0 BRERS o ENFEEDNE

§ SRIZHA o R HEREE 500 VAC, #F4 EN 50155 (%)

RAIE

MNERE LTt 1512 @ +25°C H1AUE +0.3%FS 8 g
+0.15 % FS BaAY{E
+0.1%FS 877
METE 0..2.5%F0...600 bar NERE -40°C ... +125°C
0..30E0... 7500 psi
BHES 4..20mA,0...5VDC,1...6 VDC, HIERE -40°C ... +125°C
0..10VDC,0.5...4.5VDC b=
NLH @ 25°C (BSL) 28! £ 0.2%FS 828! (E
+0.1%FS a8 (E

Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

05/2022

HiEE H72300y

EEE SR



EhiEn

B0

WiLES

H72300y

EE BE
[bar] [bar]
0..25?% 5
0..4 8
0..6 12
0..10 20
0..16 32
0..25 50
0..40 80
0..60 120
0...100 200
0...160 320
0...250 500
0...400 800
0...600 1000

HEXYEN, #5RE:0.3 %
HEXYERN, #7:0.15%
HEXEN, FE: 0.1%
HEXEN, FEE: 0.3%
BXEN, KEE: 0.15%
BXES, KEE: 0.1%7

G1/4" SMELL (F2)
1/4" NPT §MBL

1/4" NPT 824 7
7/16"-20UNF Shis 2 9

1RRE

7

[bar]
50 5
60 76
100 7
200 78
200 79
300 80
300 81
400 82
500 83
750 85
1000 74
1500 84
2000 86

7/16"-20UNF PI#84Y, DIN3866 (i@ ] i) 2 9
7/16"-20UNF JMBLY, SAE4 (J1926)

9/16"-18UNF 4ME4LL, SAE6 (J1926), JMEBLL, 255t : fifh 6137
3/8"-24UNF SAE3 SMEZ (J514) 7

R1/4" JMELL, DIN2999 3 7

M14x1.5 SMESLDIN EN 1SO 6149-2 37
FRERARRK, Tlim (B =5ER 9.4 mm), PBT #4}

{HETHESL M12x1, 4 §t, PBT 1%
{hEHESk M12x1, 5 £, PBT 444}
{HEHESK MIL-C 26482, 6 5, &8

345, #¥IEPD Raychem FDR25, IP67,4 x 0.2 mm?27

WiLES
4..20mA
0..5VDC
1..6VDC
0..10VDC
0.5...4.5VDC

A
< (U£E9V)/20 mA
>2.0kQ
=2.0kQ
>5.0kQ
>2.0kQ

SEE

@l@|@|@|@9|@|=s|le|le|le|le|e|=

I (f#58)

<10 mA
<10mA
<10 mA
<10mA

TiHg 2/6

[psi]

100
200
300
400
500
600
800
1000
2000
3000
4000
6000
10000
15000

NAH 8253

8253. XX XX XX XX XX XX

1RIRE
h
[psil
700 G5
850 G6
1450 G7
2500 G8
2500 GA
2500 G9
4000 HA
4000 HO
4000 H1
5000 H2
7000 H3
10000 H5
14500 G4
21750 H4
29000 H6
23
21
24
43
41
44
U (fiteB)

24(9...32)VDC
24(9...32)VDC
24(9...32)VDC

24 (15...32) VDC
5(4.5...5.5)VDC L=

17

30

13

18

24

42

61

66

20

31
01
32
35
02
08

19
14
16
17
23

sensors <0 controls



Roft FEFLIESK M12x1, 5 §F, BB 0 32 1 35
TlinERTLEL
& EN 50155 (%E8) fit 38 : 500 VAC, 50 Hz ¥
ELEERRETH ¢ 1.0mmo
ELEERRETH 20.3 mmo
ELEERRETH ¢ 0.5mmo
Yoo AR R L+, HE 2 i, 153 -, 4
(RBTEHES 14,16, 17,23 MBS AL 32, M12x1, 4 §1)
Y5 4R HEE A+, #EE C &, #&5 B/D -, #&$TE #3th ($5BFNDEE)
(IXFATHHIES 14,16, 17,23 FMBRAELMIL-C 26482)
BAKE 0.5m
BAKELOm
BAKE2.0m

VEPREFESERNZENE

2 MEFERE 0.3 %

3 (XBFAEXES

Y A AIFESITEE 40 bar

I LEHIHES 19

O W AFEAEZO 17,20, 30,31,42 1 61

7 Al{iga]

9 EER R4 G NAH 8254 (FEFEH 0.3%) F1 NAR 8258 (kE&R FH)

H72300y Tk5 3/6

NAH 8253

8253. XX XX XX XX XX XX

33
34
11
40
43
45

96

F3

EM
M
2M

sensors <0 controls



NAH 8253

R~
7 _7 153 10 153 10
7 3 \ <] o~ T <! o~ T =f o
o k= s REL =R ii EE
8253.XX.XXXX.01.XX.XX 8253.XX.XXXX.32.XX.XX 8253.XX.XXXX.35.XX.XX
28.75 11.6 15.85 253 ©
2
o 3 o~ o~
— IEE — =
8253.XX.XXXX.02.XX.XX 8253.XX.XXXX.08.XX.XX
£
" _ 24.8 32.65 N
T 150 2134 . 14 1685 )
‘ | = S1 | A 2
oy =1 = N == SR 5 ==
o — < %
S : T
o~ = —|= —|— o~ ol
ok g 8k Al 2= =k

0-Ring

8253.XX.2X17.XX.XX.XX  8253.XX.2X30.XX.XX.XX  8253.XX.2X13.XX.XX.XX  8253.XX.2X18.XX.XX.XX 8253.XX.2X24.XX.XX.
XX

29.8 29.8

i 0. g e o N

0-Ring 2.3 16.85 O-Ring |23 _ 16 é 2] qags %

08.92x1.83 I 012x2 < ey w8

= e 2 - He=—ll 33

M5x7 M5x7 o =3 s2
7216"—20UNF 021 g 9/16"18UNF /504 =l z(_ ol
SAE4(J1926) ¢ e SAE6 (J1926) 1o EIS =5 SIS

8253.XX.2X42.XX.XX.XX  8253.XX.2X61.XX.XX.XX  8253.XX.2X66.XX.XX.XX  8253.XX.2X20.XX.XX.XX 8253.XX.2X31.XX.XX.XX

42.25

421 45.2 16.35 54...60
12_2 151 .2 1 max.5 mm 26
‘ [~
=5
x A | & A | SiI i N _ jin
1} § - r - ‘
- - BE
2o > g‘g
o= =S =l Sle
Z|s Ble Gla
ols

8253.XX.4X17.XX.XX.XX  8253.XX.4X30.XX.XX.XX  8253.XX.4X13.XX.XX.XX  8253.XX.XXXX.XX.XX.33 8253.XX.XXXX.XX.XX.34

H72300y D5 4/6 sensors &) controls



NAH 8253

RBARE

BSHE BHiES [ HBBE 4..20mA: 24(9..32)VDC
0..5VDC: 24(9...32) VDC
1..6VDC: 24(9...32) VDC
0..10VDC:24 (15...32) VDC
0.5...4.5VDC:5VDC kb=
FFedia) B2RE 1 ms/10... 90 %IFHRES
EBIER 1s
FiR&M NERE -40°C... +125°C
WERE -40°C... +125°C
hitiae 2l &)\ IP65
nE RA 95 % HE3HE
xah 40 g (20...2000 Hz)
& 100g/11ms
EMCHEHEFA Y iagt EN/IEC 61000-6-3
MG EN/IEC 61000-6-2
ke ¢ ER%38 (A R) 1.4542 (AISI630)
EA#EO (FAR) [E/35EE < 250 bar: 1.4542 (AISI630)
/35 > 250 bar: 1.4301 (AISI304)
Hhes 1.4301 (AISI304)
ZEt FKM 70 Sh
R BIITMWES
B8 ~50g
REHIE 25Nm
VBB ER
BE
MEFEE 0.3 % MEKEE 0.15 % MEFEE 0.1%
JTHS 23/43 JIMS 21/41 TS 24/44
RIREH @-25...+85°C [% FS #a8U(E] 110 +05 +0.4(0..65°C)
BiREW @-25...485°C; [% FS EaR!{#) 04
0..4%F0...100 bar
BiREH @0...+65°C; [% FS 5a8!(H) +0.25
0..4%0..100 bar
FBE @ +25°C [% FS #8(F] *0.3 +0.15 0.1
NLH @ +25°C (BSL) [% FS 5aA!{H) +£02 +0.1 +01
TC ESRREMEERE [% FS/K E2BY{E] +0.01 +0.002 +0.002
1ERKPRE @ +25°C (% FS EARE] <%0l <t01 <+0.1
H72300y T8 5/6 sensors & controls



NAH 8253

NEERES N EERES
MEFEE 0.3 % MEFEE 0.15%

4 4

3 — .3
< ? =~ T — e . — xX
£ = = = 0 L L ———
go7’7’*’*'*;’*’7’7’*:”W’*’* 11T g 0’”’*’*'_"_'5 ': St [ 1717
§1 _/_: = \§-~_ | 271 v = T — 14
< 2 — ] 2

3 = 3

-4-50 40 30 20 10 0 10 20 30 40 50 60 70 8 90 100 110 120 130 -4-50 40 30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130

max. — —  typ.—— 1 TEB(-25...+85) Temp.(°C) max. — — typ.—— [ TEB(-25...+85) Temp. (°C)

BSEO

PP SR/ B RERE

IP65 *)**) IP67 % IP67 *) ** IP67 **
TbtrAE M12x1 MIL-C 2P
EN175301-803A 4-1% 5-1% 26482
01 32 35
3 3 2
2 5
4- 4
! 1
#— shield
N
P ® US (pos. Supply)—> 2 1 4 )
I
4-20mA @ US (neg. Supply)—-> 1 3 1 %E

I—V—@ earth/housing > o 4 5 _

8253 . XX.XXXX.XX.19

o % F3
A
p Us  (pos. Supply)—-> 1 1 1 2 A A aqe
Out (Cufput) —-—> 2 2 4 4 B C 2 3c)
U, U (re.Soph» 3 3 3 3 co | BD 2a
T—o—@ earth/housing> ] 4 2 5 E E -
8253.XX.XXXX.XX.14/16/17/23

* (R E PR IR IRAIE R FLIZ LA
) @i Sk /BB AR

pre = HIER www.trafag.com/H72300
1RIERBAT www.trafag.com/H73250
IF www.trafag.com/H70670

H72300y D15 6/6 sensors & controls



